
MAT 150So5 22F Test 3 Answers 

-
a) 

2" tI)(nt 3) 

n 

dn 
Cn )(n+14Cntlt3) 

2h' n+)nt 3) 

+ +3) 
+2(n+44) 

im an=lim Ynt4)) Z h tn+4) Z 
dn 

runo tesF 

4 

- <2 Radus of canregence 

)endpuInts 
X-=t2 

X-13 

X X= -

-)= 2(ntH 3) 

2n+Ynt3) 

2)2 Prlane 

Convergent p-senes so onveges absolutelu P2>) 

allemahny slgn 1a»l>O 

by allemanng senes tes 
s0 Ccverges 

X3 -

Sa) n=02(H) (nt3 ) 

ar Conveenmt p-seneJ us abuvt, Su aneges. at both urye 22 en dpointc 

nleal of onuergente -14x3 or ,3] 



MATISO5-0S 22F Test 3 Answers (z) 
CO 

bn 

b 0,000124 . 000 0=6] so bn s the first 
b= Fo 0000 49| next tem 

parlal sum wthin 0,0001 

of the unfhne senes valve. 
S O,1418 023 

d) Note: S. 0.1413 372 

S-S-0.0000 349 (S-Sal o.o00 

(Maple evaluah ns 

C3.35 ( 3S(15)+i.s) +1S 2.269 

= 2.02S 
C2-(3501.5) +0.$) 

b) C2 = 5 + 1SU35) +.S(0,3s) 

clearly 
3SC2 

3SC 

C 1.5 (0.s5) g-c 
-C 

R-

n 

2 3 geo mem Senes 

S S-5= 2.308 2. 
0.35 C 0.65 

0.99 Cos= Z, 2855 

d C 2.273 
Cs 2.296 

(Maple) 

0=5s the rs ge cion reaching wthin 

A 7 of hea sympto he valre 

e) Subtuct the dose 

C i Co g 2.308 
-SO0 

6.80b 0.81 13 the asymphtie minimum 

Concentahon 



MATI SOS-O5 22F Test 3 Ansuers ( 3) 

V= 2m k, o (Jdu R? -d) = 2itveG d ((1 ()')%-1) V 
1+x) 

d+( x-(2,e% 
binomia Senes 

4 

at al Hemahng senec: 
(4-1-z). 
4) () (-10-1) 

22 
4d2t changs slgn each-tem 

TT ke&2 at louestorda 
fr R<cd 

- he R (1-
d 4 42 d 

eshmate fur 
rachonal emorjset equol to 0,0) 

75 
or d 5R V 

402 l00 d 

c)Voppex TleoV 

Maple 
Nuppeor 0.9902 7, (perentage ero 

V a=5R < 17 Cufims estimale 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

